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1. Dustin operns a savings occount with $350. He saves $150 per monfin. Assume that he does not
withdrow money or moke any caditidna deposiis. Affer how mony months will Dustin hove '
$2,0002 |

Unknown: Y Mﬂf\)(\f‘g
Equation: QOUO = WY 45D V

Solution: X’/l \

LR S L 'y

2. A cell phone plan cosis § coyonin for unfimited calling plus 550.} .Eﬂ.lﬁéf messcge. If
Shayna spent $64.05 this moriTh, how many fexi messages did she se i
Wu

Unknown: X 1 et M&fﬁ@@f ¥\ Or-4- Mﬁﬁjﬁ“%“
Equation: oos = Oy £ %0

Soivtion: )(//’VI//]

3. The sum of two conseculive integers is 27. Find the two integers.

known: >( Ao ¥ i P ‘ !
Unknown v ¥ mgrdm =771 |;
Equation: _Z2X 1 =77

- Solution: _)Cf"* idﬁ" \ \L“"\

L]

“4. The sum of three consecutive integers is 87. Find the three integers, .
Unknown: X _fryzh- 4F
Equ;JTion:- Dy * PN
solution: __ X * 1%

5. Savannoh has a sweet tooth and afe x cookies last week. Her brother Seth has an even sweeter

tooth and ate three fimes os many as she did. If fogether they ate 28 cookies, how many did
savannah eat?

Unknown: )«f "?f ﬂ@ ww\ﬁw@ g @}(\ %\»{:j
Equation:__ U ¥ = 29 - X & By =18
Solution: ‘*}fm:“"‘! :

X ¥ Xr o XezZe = g
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Foought 4 pork chops for dinner which were on cole for 20% off. if he spent $13.76, how
! dic each individual pork chop cost before the discount?
A T ST O AL
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Equation: U

solution: \}6\’\'(10 g Ledb Ly

-

7 There are three exams in o marking period. A s?ude;ﬂ received a grade of 75 and 81 on ihe first
two exams. Whaot grade must the student earn on the last exam fo get an average of 80 for the

marking period?
Unknown: ___h ‘\“\\W& Jg&@?\f R %ﬂ J( :},’f .
S b0 ?

Equation: o
Soiution: @ "\

8. Arectangle is 12m longer than it is wide. ifs permeteris 68m. Find ifs iength and width.
Unknown: = U\J\AH" ‘/-"TV\) \U"’ ”

| L= 7%
Equation: "{U\J ’\"-7/“{ — b@ _ ! e

Wl VL
Solution: W 5\\

(WD) t 2w T L@
WA 1Y FL W T 09

-, 9. Alex has twice as much money Gs Jennifer. jennifer has $6 less than Shannon. Together they

have $54. How much money coes eqch haves

Unknown: X~ Shanor— AN (%~ {95
| o Kb S
Equation: ‘4\( i\ Q/\ Jonnt »Lji
B DpounnV ™ X
Solufion: }(7(% s Z/X-'Q o~ lo D SL]

- I R _
10. Meg received 90 votes for student Council Preside nt, which were 50 less than twice the

amount that Tom received. How many votes did Tom gei?

k3

unknown: _{___ DOV ‘\M}/ﬁ) A0

Equation: 1 -S0 = 40 Ton: %X )
Solution: /10




